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Answer all the questions / 73515 ST T3 7I& / FS T2EHDI I o 1x60 = 60
Choose the correct option / 3% T 53 T4/ Ao® Abetets T T{er

Primary consumer of the ecosystem

(A) Herbivores (B) Omnivores (C) Scavengers (D) Carnivores
AEOCE 2T AP (F 9

(A) *H (B) KgF (C) FCeER (D) A
UReIaT TTeIfies SU™ichT 8T —

(A) 2THTERT (B) FEIRT (C) Scavengers (D) TRATERY
TUCN stands for —

(A) Internal Union Council for Natural Gas

(B) International Union Council for Nature

(C) International Union for Conservation of Nature and Natural Resources
(D) Internal United Council of Nations

TUCN-«@3 37} ot f 9

(A) Internal Union Council for Natural Gas

(B) International Union Council for Nature

(C) International Union for Conservation of Nature and Natural Resources
(D) Internal United Council of Nations

TUCN &1 qof Su & —

(A) Internal Union Council for Natural Gas

(B) International Union Council for Nature

(C) International Union for Conservation of Nature and Natural Resources
(D) Internal United Council of Nations
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Smog is a mixture of

(C) Snow and Dust
(C) 97 8 LNl (D) (IR @3 Leatieell

(C) Snow and Dust

(C) Hydrosphere (D) All of these
(C) AMfemesaT (D) FRT62
(C) Hydrosphere (D) FrTd BT
(B) Rare species

(D) Ceritically endangered

(C) Reye arwnfe (D) Sife-fRei efelfs

(B) Got¥ SIoTfer
(D) THRBUHT facIqT: TSTfcress

(C) 8 (D) 10
(C) 8 (D) 10
©)8 (D) 10

(B) Propane and Butane

(A) Smoke and fog (B) Snow and fog

cafm= 2e1 9o farlel

(A) G @ T (B) Q1= € Al

Smog & T ST Er 2

(A) Smoke and fog (B) Snow and fog

Biosphere consists of —

(A) Lithosphere (B) Atmosphere

Glawes sfde 27

(A) SPee (B) s

SteHUS TS B —

(A) Lithosphere (B) Atmosphere

Dodo is —

(A) Endangered species

(C) Extinct species

(TICTl 25T

(A) R aeifs (B) 7= ewife

SIS & 8l 2

(A) faregaom: SroTTfer

(C) facger rofer

How many biogeographic zones does India have?

(A)5 (B) 6

TS FOGH TR-COIANeRF S IR ?

(A)5 (B) 6

TRAGYHT Hfcaer St mfetd 88w B ?

(A)5 (B) 6

The components of LPG are —

(A) Methane and Hexane

(C) Ethane and Methane

LPG-97 Goiwinaf 21

(A) feae ¢ e (B) (2o @ e

LPG-! 9 8l —

(A) PR g (B) WO 31 sged
results in the formation of soil.

(A) Radiation (B) Weathering

(A) Rifeaet (B) SIR2Re

T AfTIT PR —

(A) fafeor (B) 39&T

Pollution level in river water is measured by —

(A) ATP (B) STP

(D) Propane and Ethane
(C) Za= @ faeaw (D) (o @ T
(C) 32 afy fird (D) W 1fy 3
(C) Erosion (D) Pollution
(€)= (D) 7

(C) a8 (D) SguoT

(C) BOD (D) GPP

(D) Smoke and Dust

(D) Smoke and Dust
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TR ECeTa wACeT W@l A T4l 22

(A) ATP (B) STP (C) BOD (D) GPP
NPT UTHTepT TGHUT & T STETRHT AU 2

(A) ATP (B) STP (C) BOD (D) GPP

The phenomenon of marble cancer is due to

(A) Soot particles (B) Acid Rain (C) CFC (D) Fog

TN SRR To11 T06 [F0R &

(A) I3 el (B) =nife 3f8 (C) CFCs (D) =N
“HTeT PHhe INT” DT HROT BT —

(A) Soot particles (B) 3rctasi (C) CFC (D) Fog
Which of the following acts as pollution indicator?

(A) Black rocks (B) Mushrooms (C) Trees (D) Lichen
AN P TIF o< AN FIer A 2

(A) ICaTl 12T (B) S=ieS (C) g (D) TR
TS Geehep! DI & o TEH ?

INESSIEE RS (B) TTSEH (C) vEEw (D) RISEH
Ramsar Convention is related to the conservation of

(A) Forest (B) Wetlands (C) Desert (D) Endangered species
AP TG (I R FRFHCel Aot 7 ifve

(A) T (B) ey (C) g™ (D) Rew aeifs
Ramsar Convention & &! TRe0T Rid T~ & 2

(A) STet (B) RIREw (C) 7oy (D) fercTaum: goTfcress
The Forest (Conservation) Act, was enacted on

(A) 1972 (B) 1974 (C) 1980 (D) 1981

el TR SR T 20 =

(A) 1972 (B) 1974 (C) 1980 (D) 1981

T &IV BT Pige] TR AT ?

(A) 1972 (B) 1974 (C) 1980 (D) 1981

Full form of WCED is —

(A) World Convention on Ecosystem and Diversity.

(B) World Convention on Environment and Development.
(C) World Commission on Environment and Development.
(D) World Commission on Ecosystem and Deforestation.
WCED-93 35§ %ot 1o

(A) World Convention on Ecosystem and Diversity.

(B) World Convention on Environment and Development.
(C) World Commission on Environment and Development.
(D) World Commission on Ecosystem and Deforestation.
WCED-&! quf &9 81 —

(A) World Convention on Ecosystem and Diversity.

(B) World Convention on Environment and Development.
(C) World Commission on Environment and Development.
(D) World Commission on Ecosystem and Deforestation.
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Detritus Food chain always starts from

(A) Algae (B) Animals

(C) Plants (D) Dead organic matter

T @0 (ACF @OOP T (b3 ©F 2

(A) (1l (B) @&t (C) Sfegn (D) [© (&< T8
Detritus TTel GG IO &6 —

(A) T8 (B) gegmoft OERSINES (D) g Ief-eh garef
Eutrophication is related to which pollution?

(A) Water (B) Air (C) Noise (D) Soil

TC (1T et 7o 2BCRIRACa Il 7~o{fF® ¢

(A) &= (B) Iq (C) 1 (D) e
Eutrophication & @1 HgyUT e g © ?

(A) St (B) a7 (C) geel (D) 7T
Which of the following is the cause of Skin cancer?

(A) Acid rain (B) Allergens (C) Ozone layer depletion (D) None of these
0= (@IS0 Skin IR PIel 2

(A) SriFTe 32 (B) SISt (C) STEF BEASTHT (D) @02 T
BT e ITehT IRV & BT ?

(A) 3fFctayT (B) Allergens

(C) Ozone ¥R Rehiaor (D) T 7y 1 U BT

Which of the following gas is present in maximum amount in the air?

(A) Nitrogen (B) Oxygen (C) Carbon-dioxide (D) Methane
eI FifE e Feva @i e oifEfs o Fat A o

(A) ZCBIce= (B) SifSicem (C) F-Tiz-owZe (D) e

P a1 AIGHUSTTHT FaHaT ST AT U150 ?

(A) TS (B) 3o (C) PRF-SE-3MATES (D) i

CPCB stands for

(A) Control Pollution Control Board

(B) Control Pollution and Control Biodiversity
(C) Central Public Commission for Biodiversity
(D) Central Pollution Control Board

CPCB @10 & Q@R[ 9

(A) Control Pollution Control Board

(B) Control Pollution and Control Biodiversity
(C) Central Public Commission for Biodiversity
(D) Central Pollution Control Board

CPCB &1 quiey &1 —

(A) Control Pollution Control Board.

(B) Control Pollution and Control Biodiversity.
(C) Central Public Commission for Biodiversity.
(D) Central Pollution Control Board.
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On which day the World Environment Day is celebrated?

(A) 5th April (B) 5th May (C) 5th June (D) 5th September
T~ st i i a1 23 ¢
(A) 5 2 qfefs (B) 538 (C) 539w (D) 5 B GH=
ferer qarfaror feas e fo AeTso52
(A) 5 31T (B)5 g (C)5 I (D) 5 TR
is the first trophic level of the food chain.
(A) Herbivores (B) Carnivores (C) Green plants (D) All of these
Q- AT B 2 |
(A) PeiteIGt (B) A (C) & Sfgn (D) wRfel
ITeSTTeTd! T2 Trophic level-AT Te9 —
(A) ATPTERY (B) HiRITERY (C) s8R g fer (D) T g
The correct order of the 3R principle is —
(A) Recycle, Reuse, Reduce (B) Reuse, Reduce, Recycle
(C) Reduce, Reuse, Recycle (D) None of these
3R~ T F 9 77
(A) Recycle, Reuse, Reduce (B) Reuse, Reduce, Recycle
(C) Reduce, Reuse, Recycle (D) @02 T
3R’ RIgT<Ta! Fel o 8T —
(A) Recycle, Reuse, Reduce (B) Reuse, Reduce, Recycle
(C) Reduce, Reuse, Recycle (D) ﬁmgﬁﬁﬁﬁ
‘Sustainable Development Goals’ to be fulfilled by which year —
(A) 2020 (B) 2030 (C) 2040 (D) 2050
FEfeMe SracT sl 59 3919 & (I J=Aites 4 T4l 2
(A) 2020 (B) 2030 (C) 2040 (D) 2050
I [T T&’ el HATRTHHT JUT 7T U & ?
(A) 2020 (B) 2030 (C) 2040 (D) 2050
How many levels are there in Environmental Education
(A)3 (B) 4 ©)2 (D)5
A Rrta &9 53 ¢
(A)3 (B) 4 ©)2 (D)5
TATERUT STEYTHT DTl TRED B+ ?
(A)3 (B) 4 ©)2 (D)5
Which of the following is gaseous cycle?
(A) Sulphur cycle (B) Phosphorus cycle (C) Carbon cycle (D) Nitrogen cycle
feefeiiRe I SR b ¢
(A) AT 5 (B) T 5F (C) IR 5% (D) FECTIE ber
TP G TTfe T TP &l 2
(A) TR Th (B) BAHR TH (C) P Ah (D) TSI ah
5 Turn Over
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26. Bhopal Gas Tragedy occurred in

(A) 1984 (B) 1983 (C) 1994
G 9 fo 1 S kb zfes 9
(A) 1984 (B) 1983 (C) 1994
AT Y AT o1 ATeTHT U] T 2
(A) 1984 (B) 1983 (C) 1994

27.  Which of the following is not an ex-situ conservation of Biodiversity?
(A) Botanical Garden (B) Gene Bank (C) Seed Bank
e @ QR @F-5f RIFER TS 71 9
(A) QBRI N (B) &9 1% (C) = =
TCTDTEY Pl TTfe IR ST AR 815 ?
(A) TR &I (B) Gene §&% (C) ST da

28. Energy flow in an ecosystem is —
(A) Multidirectional  (B) Bidirectional (C) Unidirectional
AEeCE ¥ I M =
(A) IR (B) fa-q (C) oI
TSCT IRAHT 391 I8 §75 —

(A) Multidirectional  (B) Bidirectional (C) Unidirectional

29. The pyramid of energy is always —

(A) Upright (B) Inverted (C) Horizontal
Argeca =ife= PrIfe 7w
(A) Tag (B) THICA! (C) F7ree
ST RIS e 578 —
(A) BT (B) Hreey (C) Tt

30. Which element is the cause of ‘itai-itai’ disease?
(A)Cd (B) Hg (C) As
25122512 It & (I 4ied Ko i ¢
(A)Cd (B) Hg (C) As
‘Itai-Itai’ INTep! (T o7 e FHIGR B 2
(A)Cd (B) Hg (C) As

31. Kaziranga National Park is famous for —
(A) Tiger (B) Muskdeer (C) Elephant
Fiferie! S Tryie e &) e
(A) A (B) TEfEaa (C) af®
BTSN ISE T ST &P T AT foReaTd © 2
(A) T (B) B o7 (C) et

32.  Jet planes flies through which layer of the atmosphere

(A) Troposphere (B) Stratosphere (C) Mesosphere

ARANGTETR (i B 0 (&0 (2l 5eTbet B 2

(A) GEICAFEaR (B) FwiFaia (C) TFFaR

1115 6

(D) 1993
(D) 1993

(D) 1993

(D) National Park
(D) TSI Swpiel
(D) fSear e
(D) Cyclic

(D) bEFIFIR

(D) Cyclic

(D) None of these
(D) @2 =

(D) Fr7ed P uf T Bl
(D) Pb

(D) Pb

(D) Pb

(D) Rhinoceros
(D) s&

(D) Her

(D) Thermosphere

(D) i
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SIC EATSSTEIS ARIHSAD] P TRETC IST ?

(A) Troposphere (B) Stratosphere (C) Mesosphere (D) Thermosphere
33.  Which of the following is the vector-borne disease?

(A) Cholera (B) Hepeatitis (C) Dengue (D) Typhoid

e @Eb (e%3-AiRe @il 9

(A) T (B) zAGRGA (C) o (D) SIZFGS

qTEDST(-IcT T P &1 2

(A) &1 (B) Hepatitis (F8el)  (C) 7 (D) TISHIES
34. Earthquake is measured in which scale?

(A) pH scale (B) Linear scale (C) Richter scale (D) None of these

G T (FI CHCT AR AN F01 2 2

(A) pH (&= (B) Tetfertiz ez (C) R0 =z (D) @b T

ST AT TS 3 D —

(A) pH scale (B) Linear scale (C) Richter scale (D) ﬁmgﬁqﬁiﬁﬁ
35. Which is not a source of fresh water?

(A) Glaciers and ice sheets (B) Ground water

(C) Surface run-off (D) Oceans

@I W SR Tt Y 9

(A) iz @ T (B) g-1®% e (C) - e (D) TZPTIoR

\C?"i'dllrgdl\)‘llLll"Iﬁlcbl I glgd ?

(A) R 31 T vgTE (B) 5T

(ORSEELEAR I (D) H8RITR
36.  Acid-rain is mainly a mixture of

(A) Sulphuric acid and Nitric acid (B) Hexane and Methane

(C) Acetic acid and Bromine (D) Ascorbic acid and Citric acid

=iTe 313 e [ e 9

(A) ARFERS Shife ¢ wiEfEs s (B) (3 8 fieaw

(C) s wrife ¢ @iz (D) @R e @ AEfEE e

SFctaST TeTT: fsior 8y —

(A) FehiRD 3rFet 31 ATZch 3rFel (B) a4 31+ fereT

(C) vRife arat Yy e (D) TSI 31T 31 ATsfes aret
37. Which of the following is not a green house gas —

(A) Oxygen (B) Carbon-di-oxide (C) Water vapour (D) Methane

T 0 & 2T ST

(A) e (B) FR-CIZ-SHZE  (C) Ttz et (D) fez=

BRTE IR BlgT —

(A) 3TaAS (B) PEA-SE-31GARS  (C) STt arsq (D) frae

38. Study of trends in human population growth and prediction of future growth is called —
(A) Demography (B) Biography (C) Kalography (D) Psychology

1115 7 Turn Over
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T A e @eTel 8 ©fEITS e A s ST 9T 2 9

(A) (SR (B) ANt (C) Fitenallfze (D) MZcaieife
HIE SR Jfgep! 31 AIGSMHT gfg g1 SFHID! STeardels i —
(A) SR (B) Sftat (C) 37&RTaT (D) AR

The Salinisation can be defined as —

(A) Accumulation of salts in the body.
(B) Accumulation of salts in water.

(C) Accumulation of salts in animals.

(D) Accumulation of salts in the soil.
TRAGFE WG 1l [RFe T @S Al

(A) *RNE & & (B) & &Re &

(C) AR Ny 31300 S (D) Wbce #=e Tracs AT

TeAYenvor ot afeTeT BT —

(A) TRRHTTT STHTE] (B) YT T ST &

(C) SITHaRAT I ST & (D) AICHT T ST &5

The solar cell converts which energy into electrical energy

(A) Chemical energy (B) Solar energy (C) Magnetic energy (D) None of these
IR (@ *& @ @Agies wfers wieiio 3 ?

(A) IR #ife (B) Glizife (C) Breaife (D) (PIGE

IR Aol P IATATS Tl STHT TR e 2

(A) I I (B) AR i (C) bty It (D) Fr7e P ufy Bl
Which of the following is a renewable source of energy?

(A) Coal (B) Uranium (C) Wind (D) None of these
CER @0 T =feq T 9

(A) FF (B) Tecafr (C) et (D) 02 7

P Tfe SoATep! T PRV SN 8T 2

(A) Prge (B) Zfrer (©) T (D) A=A Py uf &
The uses of CFCs are —

(A) Insulators (B) Aerosol propellants

(C) Refrigerants (D) All of these

CFCs-99 9214 23 &4l

(A) ST (B) ST (&AC2RTIS (C) @RFecasa (D) F<Fo
CFC-®T YR B AT ES ?

(A) Insulators (B) Aerosol propellants

(C) Refrigerants (D) A BT

Which of the following energy is stored in the earth?

(A) Mechanical energy (B) Solar energy

(C) Chemical energy (D) Geothermal energy

T @i =i 7R3 SrereE A% A 9

(A) Tz e (B) @M= *Ifes (C) IR =ife (D) ©-9i7 *fie
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g T Ioif HUSR &0 ?
(A) Mechanical 11 (B) IRf ol (C) I Helt (D) YU St
44.  Which of the following is necessary for photosynthesis?
(A) Sulphur (B) Phosphorus (C) Chlorophyll (D) Chloroform
TR G AN TR &y SRR Soiiwie ¢
(A) AETFE (B) TN (C) FIAIfFa (D) GG
TeRTIRICT D] M dAdred éﬁa’ff AP IS ?
(A) Sulphur (B) Phosphorus (C) Chlorophyll (D) Chloroform
45. Which human activity can decrease the oxygen levels present in the atmosphere?
(A) Deforestation (B) Animal hunting  (C) Mining (D) Irrigation
R (@I I« IR ToifEe S WNGF 2 F 9
(A) TR (B) “iefeipia (C) A= (D) GTb
HED] BRI TRIfe et TRIATSETHT U 3R] AT SRS ?
(A) ST (B) TMRPI IR~ (C) @ (D) Ryarg
46. Who is often referred to as the ‘Father of the Green Revolution’ in India?
(A) Mahatma Gandhi (B) Jawaharlal Nehru
(C) Indira Gandhi (D) M. S. Swaminathan
BIACe TS RARE ol BAR FIE 900 T4 23 9
(A) SN S (B) ©iaseilel (g (C) 2l st (D) 9.9, FIAL
TRAGYAT R STHD HAATS A ?
(A) HETAT et (B) SATRAT@ 8w (C) Sy et (D) TH. U AT
47. What is the permissible daytime noise level (in decibels) in residential areas as per Indian
noise standards?
(A) 55dB (B) 80dB (C) 70dB (D) 90dB
ST NS eI ©ITSR ST ST S SIS ] F'© 9
(A) 55dB (B) 80dB (C) 70dB (D) 90dB
TRIGYHT ST AT Q7T Beetleh! TR DI IUS ?
(A) 55dB (B) 80dB (C) 70dB (D) 90dB
48. The Silent Valley movement in India was primarily focused on the conservation of which
ecosystem ?
(A) Desert (B) Rainforest (C) Grassland (D) Wetland
AIZEIG ST SNCWIE LTS AFOCE (Pl FRIFH(EIR G2 SENFAS FCF 9
(A) gl (B) I8 ey () weregf (D) w=rg
YRAIYAT Silent Valley Movement TG00 & Bl AREOHTRT 31TeMRd & 2
(A) 7 (B) aufe (OR:ISEICER IDEISESS)
49. The primary goal of sustainable development is

(A) Environmental preservation only.
(B) Economic growth at any cost.
(C) Meeting the needs of present without compromising future generations.

(D) Social equality above all else.

1115 9 Turn Over
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e Sraces enefirs o & ¢

(A) Bl ~ific FRzmpel T2l

(B) @ (I ©itd 9L Jfan 4l

(C) SR LTI A |#R7 7 FCF, TSN Hifzwt 7j70 Fi

(D) IR A A& ATl

AT fIpTeD! T e & —

(A) et TATERUIT &l T

(B) SRIRT {uufe 31 faamrer

(C) s FraifeTeTTs AT IRSR AT Hreifeiep! JTaegepelt it

(D) T4 FHTRAD FHFT AT

CITES is an international agreement aimed at regulating the trade of

(A) All animals and plants (B) Only endangered plants and animals
(C) Only plants (D) Only marine species

CITES &< wiiewifes pfe 1 fifen Sfen =k iz ifdey famae Face todt a1 2z 9
(A) 8 Bfgr @3% A (B) Bllg v Tfgw @k i

(C) wywia Tfer (D) B TfET e

CITES & &I ATIRTS (=07 T U3l S=RifSe Frsildr &t ?

(A) 9 gRgfer 37 aggeoft (B) faregamg: swregfer 31f agumoft /s
(C) FAEufer 9 (D) STeiT gy /1Y

What is the main objective of the UNCCD?

(A) Promote desert tourism

(B) Combating desertification and mitigating the effects of drought
(C) Expanding desert areas for agriculture

(D) Protecting deserts from any human activities
UNCCD-&3 &l o7 5 ¢

(A) TREGRE B e F4l

(B) ¥4 RN 2o wea TEglics eifas zre il rex
(C) FRE G T3F LT JIZS A

(D) @ (P TRT FRIFA (AT TEHIE T T4l
UNCCD-%! 4% I3 & —

(A) FMHT RICTDT epTer ]

(B) TR HIBRUDT HBTIET 31 TS BT TS TS

(C) FovHT &1 Y faeTR

(D) HoYHICITS AT fehaTehetTudTe gemsH

What is thermal pollution?

(A) Pollution caused by chemicals in water

(B) Pollution caused by excessive heat in water bodies
(C) Pollution caused by noise in industrial areas

(D) Pollution caused by radiation in water

10
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SR 79l IO F R 2
(A) IS S e et 73el (B) SeTICIE S04 &ARF Ol Jiens piaicel et el
(C) TRisni=eceTa ey * e wRiced w3l (D) ceTa &y Rifesicets swtwee w2l
SRISECAC RN
(A) FTHTET ST THTeel g HguuT (B) UI-HT 3feaTfere STidel §4 HguuT
(C) 3ienfiiep &= seeTTel g guuT (D) 9T Radiation @1 PRIt 87 HGHUT
53. What is the primary tree species found in the deciduous forests of North Bengal?
(A) Oak (B) Pine (C) Sal (D) Maple
TER ANCID! SR 2neifile Sela aeifs @i
(A) &5 (B) #Mi&s (C) =it (D) e
SRNCHICIRCREISE Rkl g@m@m&ﬁmm?
(A) 3N&H (B) Pine (C) Sal (D) Maple
54. What environmental impact is associated with open-cast mining?
(A) Soil-erosion (B) Air pollution (C) Noise pollution (D) All of these
T 4 IR T AR TR (I LSRG 2108 9
(A) Ff&w=7 (B) g 7 (C) i 7zl (D) 7o
Open-Cast Mining @ GITaRUMT &t TTe UTes ?
(A) 1T &roT (B) arg 5T (C) e Ty (D) e e
55.  Which one of the following is not a recognised biodiversity hotspot in India?
(A) Eastern Himalaya (B) Western Ghat
(C) Andaman and Nicobar (D) Eastern Ghat
e @I SiRred GiREbErd 26746 @ Fipe =19 2
(A) & e (B) #f<5s1ais sRfew@  (C) S @k e (D) 7%
IRAHT TeTbTed P <1fe Biodiversity Hotspot 815 2
(A) Eastern Himalaya (B) Western Ghat
(C) Andaman and Nicobar (D) Eastern Ghat
56. Which of the following is considered a primary air pollutant?
(A) Smog (B) Ozone (C) Sulphur dioxide (D) PAN
fesfeiie @i i IRpEe Re o s 2
(A) i (B) €& (C) AeFR-wig sHZe (D) PAN
TR G TTfe TR a1 TSP &l ?
(A) Smog (B) Ozone (C) Sulphur dioxide (D) PAN
57. Which human right protects an individual’s right to express their beliefs and opinions freely.
(A) Right to privacy (B) Freedom of religion
(C) Freedom of speech (D) Right to education

(@I NRIEPRIOCS ATOIF Oitnd ey [T @R TOITSCP SR &AF FA0o A 9
(A) GATToR SfEFR  (B) €5 T (C) ToF FATOl (D) iz sz
HIED! P SMRIBR SR HIT ATDPR MLB SRHT Il FaT= 0T ST e 31 o

e T ?
(A) Right to privacy (B) Freedom of religion
(C) Freedom of speech (D) Right to education
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58.

59.

60.
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What is the term for the variety of different species in an ecosystem?

(A) Population (B) Habitat (C) Biodiversity (D) Community
AgeEd (e gwifors ada = 9

(A) SR (B) IPTE (C) &=tafbay (D) =W
TR TSTTfgRae! [T HehRalTs & W6 2

(A) Population (B) Habitat (C) Biodiversity (D) Community
Which of the following technique is beneficial for soil conservation?

(A) Overgrazing (B) Deforestation

(C) Terracing (D) Leaving fields bare during heavy rain
RS @ &Sl e TR G THFIE 9

(A) Sfefe 7Rapie (B) FCo=n

(C) Gehr (D) I 313 I & T A4

HICT EREUTT TP et fegUdT UghiTed P w1fe thraeTo & 2

(A) 3rfcraRuT (B) ST

(C) IR faRTST (D) 9T 99T ga1 ST afsir e

An example of natural pollution is —

(A) Forest fire (B) Volcanic eruptions

(C) Natural organic decays (D) All of these

Ao Tl TriRa a1

(A) W (B) Scarfaifes wigyesie

(C) 2o torrgeel (D) 7=

Hepeieh FEHURhT TICT SSTERUl &1 —

(A) STTEHT TRTRIT (B) Volcanic eruptions

(C) Tepicren prif~ieh &Ry (D) A & BT
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